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SA: oEBRY
MM THEHOH CHSHH 25
Sl U B OFSE N (chgl: &2
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 399
= 931
01 AP 22| d| 2,660 0 2,660
ORHsEts 2¢ 2,660
= 1,330
= 399
= 931
MHUuie otdsas 2,544 2,544 0
= 1,272
= 636
= 636
201 et 9| 2,544 2,544 0
= 1,272
o=} 636
= 636
01 AP 2t 2| bl 2,544 2,544 0
O 2IJHIHHis sg&d 2,544
= 1,272
& 636
= 636
ME olete M35 278,244 199,646 78,598
= 3,737
= 6,239
= 268,268
ANS=RERE 29 29,728 27,028 2,700
301 LprE a3 29,728 27,028 2,700
08 MBI ER2RIBAZ 29,728 27,028 2,700
OPIE=3=; 148,800%x5H «12& 8,928
OsAHl 150,000%x5H *12& 9,000
OnEdl 120,000 x5 « 12& 7,200
O =l 400,000 x4 1,600
OMEAZS(EE) 3,000,000 =1 3,000
ogAigiy XN 55,000 10,000 45,000
307 2Iz2to| & 55,000 10,000 45,000
02 QIZ2HA AAIE E X 55,000 10,000 45,000
OstMog & Xgses ¢ J=dAUg 10,000
OFeEE o2alf AL)=HAWY S 45,000
SAos & 13,100 9,700 3,400
201 et | 13,100 9,700 3,400
01 AFR 2t 2| bl 13,100 9,700 3,400
OsSXHEs 2| 4,000
OsXdg ¢ szd 28 2ot 1,000
OdlAtiHI & 22| 3,000
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AN tA 2t
M HE Mo HSHAH 7=
ool ME DIYe BAG EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gAYl J=sZHUE XA 3,000 0 3,000
< 3,000
307 gl2tol & 3,000 0 3,000
< 3,000
02 IZHE M AHE L 3,000 0 3,000
OogAdll det=sx stotsU 3 3,000
< 3,000
28 HasS=AE OlFALS 40,360 0 40,360
401 Al HIZ 201 I 40,360 0 40,360
01 A& HI 40,000 0 40,000
OZd& Hiadzg=AE 0IE 40,000
03 Al =2 THHI 360 0 360
OZ& Hiad=ax=AE 0™ 360
MAHZE SteSd HY 27,199,600 34,301,267 AT,101,667
= 12,679,000
Xl 1,988,000
< 4,574,400
s 7,958,200
otETHOH OGIEXMA 2= 3,626,000 4,200,000 A 574,000
X 1,988,000
s 1,638,000
2otd ZHIAMY 3,626,000 4,200,000 A 574,000
Xl 1,988,000
s 1,638,000
401 AIEHI L 2CHEI 3,626,000 4,200,000 A 574,000
Xl 1,988,000
[ia 1,638,000
01 A& HI 3,615,264 4,186,770 A571,506
A0td FHIALS 3,615,264
Xl 1,988,000
[ia 1,627,264
03 Al =TI 10,736 13,230 A2,494
OAotd ZHIAMY 10,736
oML =ERHMA 2= 3,678,000 3,090,000 588,000
= 1,061,000
< 597,400
s 2,019,600
StETHaH Hlgs=2 750,000 550,000 200,000
401 AIEHIZL 2 CHEI 750,000 550,000 200,000
01 A& HI 750,000 550,000 200,000
OL2otd & MW EFAY 250,000
O&MZ THoli ol & ot&2tel 300,000
Oo0l&el &KX oA 200,000
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A otA 2te| Bt
X MAH otdEd oHg
',

o =
el XH of ol &

j
t
S2HAH 2E

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Srl28 K& 10,000 150,000 A 140,000
201 £B-2d| 10,000 150,000 A 140,000
01 At 22l 10,000 150,000 A 140,000
O2=ol28 XA 10,000
THoH R X = HHIA 2,122,000 2,350,000 A 228,000
= 1,061,000
< 424,400
i 636,600
401 Al HIZ 201 I 2,122,000 2,350,000 A 228,000
= 1,061,000
< 424,400
i 636,600
01 A& HI 2,114,360 2,342,800 A 228,440
Ol & X EHI ALY 2,114,360,000& 2,114,360
= 1,061,000
< 424,400
s 628,960
03 Al 2 0HHI 7,640 7,200 440
O & X 2EH AL
2,122,000,000& *0.36% 7,640
Met2e|dla Arg 346,000 40,000 306,000
= 173,000
= 173,000
401 AIEHI L 20 46,000 40,000 6,000
< 23,000
[ia 23,000
01 A& Bl 46,000 40,000 6,000
OHE X7 THEHH AL 46,000
= 23,000
e 23,000
403 XA SA=0l& 300,000 0 300,000
< 150,000
s 150,000
02 S 2S0ICHEt A =& OHE At H 300,000 0 300,000
Osx=Sg&el NI ALY 300,000
< 150,000
s 150,000
THOH RI& XIS ol A AFS 450,000 0 450,000
401 A& HIZ 201 8] 450,000 0 450,000
01 A& HI 450,000 0 450,000
O E XA ofl A AH 350,000
OZEBMaHAS X 7 EHI SAH AAIEH 100,000
ot & 22| 19,895,600 26,011,267 A6,115,667
= 11,618,000
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oh& zte| ut
MAZE otdsd fe
St& 2tel (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 3,977,000
s 4,300,600
ot& KXl 22| 293,600 449,600 A 156,000
201 LB-2d| 3,600 3,600 0
02 3322l 3,600 3,600 0
OGtEANEE 2ZE 21 300,000& x12& 3,600
401 Al HIZ 201 8] 290,000 446,000 A 156,000
01 A& HI 290,000 446,000 A 156,000
Ootd =4 200,000
OctEAEE E= 20,000
OXNgotdanEE 50,000
Oct&EANEE 3LEZ 20,000
O & TH o Oil 2 At 19,060,000 20,766,667 A 1,706,667
= 11,418,000
< 3,806,000
i 3,836,000
401 Al HI & 28I 19,060,000 20,766,667 A 1,706,667
= 11,418,000
< 3,806,000
s 3,836,000
01 A& HI 18,996,080 20,701,334 A 1,705,254
OMEHSIE =& ALY 8,271,388
—gAaX+ 3,185,158
= 1,918,000
= 639,333
s 627,825
— &K+ 5,086,230
= 3,060,000
= 1,020,000
[ia 1,006,230
O OF& THOH Ol AL 10,724,692
— Z&NF 3,047,323
= 1,835,000
< 611,667
[ia 600,656
— ANgx R 4,238,021
= 2,552,000
< 850,667
i 835,354
- X&EXF 3,439,348
= 2,053,000
< 684,333
[ia 702,015
03 Al 2 THHI 63,920 65,333 A 1,413
OMEIotE T & ALY 25,280
— gAaX+ 11,510
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SN oE e
M MAA ot N
ool stEz el EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— &K+ 5,100,000,000%0.27% 13,770
O ot & THoH 0l 2 A 38,640
— &I F 3,058, 333,000%0. 36% 11,010
— A g X+ 4,253,333,000%0. 36% 15,312
— XI&EXF 3,421,666,000%0.36% 12,318
StEMZESRX 2= 62,000 62,000 0
< 31,000
e 31,000
101 @124 dl 36,000 36,000 0
< 18,000
s 18,000
04 JIZtHZ2XREE+ 36,000 36,000 0
OotaEMERNES 22 36,000
= 18,000
s 18,000
206 M= Hl 4,000 4,000 0
< 2,000
s 2,000
01 MHZ 4l 4,000 4,000 0
OGSt MR X2 4,000
= 2,000
= 2,000
401 Al I 28I 22,000 22,000 0
< 11,000
s 11,000
01 Al&HI 22,000 22,000 0
OBt &M KX 24+ 22,000
= 11,000
[ia 11,000
Ittt KR 2el 200,000 303,000 A 103,000
= 200,000
201 L2l 6,000 6,000 0
= 6,000
01 At 22l 3,000 3,000 0
O=Jtotd st&E4a 2el 3,000
= 3,000
02 3323l 3,000 3,000 0
O=Jtotd HEKRXNE=+ el 3,000
= 3,000
401 Al Bl 28I 194,000 297,000 A 103,000
= 194,000
01 A& HI 194,000 297,000 A 103,000
O=Jtotd HMERIE 194,000
= 194,000
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oh& zte| ut
MAZE otdsd fe
St& 2tel (&)
= - — SHE|
CHB G (B) - HRAMY - BES 0l &t o8 il HlnE2
HEHDII=HE 8 280,000 0 280,000
< 140,000
s 140,000
401 Al Bl 28I 280,000 0 280,000
< 140,000
s 140,000
01 A& Bl 280,000 0 280,000
OstEFHIII=2H &+ 280,000
< 140,000
= 140,000
g8 =HEd HHIoHd 2,627,538 6,819,074 24,191,536
= 740,000
Xl 279,000
i 1,608,538
3 AdEd Fl 9,660 8,660 1,000
olsd fX2el 6,660 8,660 A 2,000
101 @124 dl 500 500 0
04 JIZHHZ2XRHEES 500 500 0
OHd= e1=¢ 100,000 12 x5H 500
201 Let24E] 3,160 3,160 0
01 At 22l 1,000 1,000 0
OZaosat st&Ea 22 500
Ooyeog |2 500
02 22224l 2,160 2,160 0
OZaosa & 180,000& =128 2,160
202 o4l 3,000 5,000 A 2,000
01 = LH YI 3,000 5,000 A 2,000
Od&g Y 3,000
AT Ol=EX 3,000 0 3,000
101 14 Hl 3,000 0 3,000
04 JIZtHZ22XEES 3,000 0 3,000
OMzxzo2 3,000
2 sz 1,216,133 1,030,170 185,963
Xl 279,000
i 937,133
e =9 MHZ2 1,216,133 1,030,170 185,963
X 279,000
e 937,133
401 Al B2 28I 1,216,133 1,030,170 185,963
Xl 279,000
s 937,133
01 A& HI 1,216,133 1,024,670 191,463
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A otA 2te| Bt

M 4L Y FHEZH ZHIHA
ool HRUY BB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHE=Y MHISA Z&AY 1,216,133
Xl 279,000
[ia 937,133
SULHFHIGN Y 1,401,745 5,780,244 A 4,378,499
= 740,000
i 661,745
HSAZHFHI SN2 ALY 611,745 813,244 A 201,499
201 Let24E] 1,000 1,000 0
02 =224l 1,000 1,000 0
OXIHAMIANEZ=AEEEAS EES 1,000
401 AIEHI L 20 352,734 484,944 A 132,210
01 A& HI 350,212 481,454 A 131,242
OY=HI2 M 350,212
03 Al 2 THHI 2,522 3,490 A 068
OY=dHRXI2 AN 350,212,000 *0.72% 2,522
402 RIZ2tXt20l ™ 258,011 327,300 A 69,289
01 ATt EAEEX 258,011 327,300 A 69,289
OY=HI2 M 258,011
dA2E =EXS ZHAMY 790,000 3,017,000 A2,227,000
=2 740,000
s 50,000
401 Al HI K 201 I 52,000 1,217,000 A 1,165,000
= 48,700
i 3,300
01 A& HI 51,537 1,217,000 A 1,165,463
O8I FHAEY 51,537
= 48,700
[ia 2,837
03 A& =2 I 463 0 463
OHF=HIY ZFHlAY 463
402 2I2H X201 M 738,000 1,800,000 A 1,062,000
= 691,300
s 46,700
01 It AP E X 738,000 1,800,000 A 1,062,000
O8I FHlAY 738,000
= 691,300
[ 46,700
MHPES (T2l t) 93,170 93,170 0
WHEHHX = 93,170 93,170 0
Met2edls 883 93,170 93,170 0
702 )1 SEEZS 93,170 93,170 0
0ol=ds= 93,170 93,170 0
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